


Use bolts to secure the frame to the ground to against the strong wind.！



Pole Beam

Beam

Beam

Beam

Beam Connector

Corner Roof Bar Corner Roof Bar Connector

Roof Bar Roof Bar

Corner Roof Solidifying Bar Corner Roof Solidifying Bar

Corner Roof Solidifying Bar Corner Roof Solidifying Bar

Finishing Bar Finishing Bar
1



Finishing Bar Finishing Bar

Finishing Bar Finishing Bar

Finishing Bar

Finishing Bar Solidfying Bar

Solidfying BarSolidfying Bar

Roof Panel Roof Panel 

Roof Panel Roof Panel 

Roof Panel Roof Panel 

Finishing Bar



Plastic Bar Plastic Bar



Finishing End Finishing End Solid Sidewall  Mosquito 

Sidewall   

Mesh

4



(1) Attach Part #B1 to Part #A 
with 4 Bolts #8 .

(2) Attach Part #B2 to Part #A 
with 4 Bolts #6 .

(3) Attach Part #B to Part #A 
with 3 Bolts #8.



(3) Insert the other side of 

     Part #C2 into Part #C1 

     and secure with 4 Bolts #8. 

(2) Insert one side of 

     Part #C2 into Part #C 

     and secure with 4 Bolts #8.

(1) Insert Part #X into Part #C1. 

(4)  Secure Part X with 2 Bolts #3.

(5) Repeat the above procedures to assemble the other Part #C and Part #C1.6



(2) Insert one side of Part #D2 into

     Part #D and secure with 4 Bolts #8. 

(1) Insert Part #X into Part #D;

(4) Secure Part #X with 2 Bolts #3.

(3) Insert Part #X into Part #D1;

     insert the other side of 

     Part #D2 into Part #D1 

     and secure with 4 Bolts #8.

(5) Repeat the above procedures to assemble the other Part #D and Part #D1.

X2

7



Please don’t tighten all the bolts.



Tighten all the bolts.



X4











(1) Attach Part #U2 to Part #F/F1/F2/F3 with Bolts #6.
(2) Repeat the above procedures to assemble the other 3 pieces.



W1



W1








